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RATIONAL NUMBERS

All Questions

1. Every natural number is a positive rational

number.


https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_NKPBaaH4iOL3

° Watch Video Solution

2. Every negative integer is a negative rational

number.

o Watch Video Solution

3. Write down the numerator of each of the

. . 7 .. 15
following rational numbers: — 5 (i1) 1

° Watch Video Solution



https://dl.doubtnut.com/l/_NKPBaaH4iOL3
https://dl.doubtnut.com/l/_yfrb250tHAPk
https://dl.doubtnut.com/l/_nhvrP2BVS5Kk
https://dl.doubtnut.com/l/_LS61aXaVWTrK

4. Write down the numerator of each of the

—17 (ii)§5

following rational numbers:
—21 9

o Watch Video Solution

5. Write down the denominator of each of the

—4 11
following rational numbers: — (ii) ——
5 — 34

° Watch Video Solution



https://dl.doubtnut.com/l/_LS61aXaVWTrK
https://dl.doubtnut.com/l/_Ybruah7Ab2Ab

6. Write down the denominator of each of the

— 15
— 82

following rational numbers: (i) 150

° Watch Video Solution

7. Write down the rational number whose
numerator is (—3) x4, and whose

denominator is (34 — 23) x (7 — 4).

° Watch Video Solution



https://dl.doubtnut.com/l/_lkVjz0kFmRhu
https://dl.doubtnut.com/l/_BYqQc1je9bbS

8. Write the following rational numbers as

7T —12 34 —-73 9

mtegers:T, 1T 1 11

° Watch Video Solution

9. Write the following integers as rational
numbers with denominator 1:

—15, 17, 85, — 100

° Watch Video Solution



https://dl.doubtnut.com/l/_WgKLmINoF7He
https://dl.doubtnut.com/l/_7DhxzsWrv7pm

10. Write down the rational number whose
numerator is the smallest three digit number
and denominator is the largest four digit

number.

o Watch Video Solution

11. Separate positive and negative rational

numbers from the following rational numbers:

—5 12 7 13 0 —18 -9 -1
_77 _5727_—97 ’ _77 1167 _9

o Watch Video Solution



https://dl.doubtnut.com/l/_xJPbDWPWcmdw
https://dl.doubtnut.com/l/_fVblA1HhJS8H

12. Which of the following rational numbers

Lo =8 9
are positive: (I)T (ii) 3

o Watch Video Solution

13. Which of the following rational numbers

.o —19 =21
are positive: (|)_—13 (i1) BER

o Watch Video Solution



https://dl.doubtnut.com/l/_fVblA1HhJS8H
https://dl.doubtnut.com/l/_2va92u8AHnlT
https://dl.doubtnut.com/l/_eDZ7WgVReVT2

14. Which of the following rational numbers

. L3 .. —9d
are negative? (I)T (i1) 3

° Watch Video Solution

15. Which of the following rational numbers

, 9 . =115
are negatlve? (I)_—83 (II) T97

o Watch Video Solution



https://dl.doubtnut.com/l/_7TX4uySgvrj1
https://dl.doubtnut.com/l/_D1DbE5iYeD5J

16. Write each of the following rational

numbers  with  positive  denominator:

5 15 —17
7’ —28° —13

o Watch Video Solution

17. Express —— as a rational number with

§
numerator: (i)— 15 (i1) 10

° Watch Video Solution



https://dl.doubtnut.com/l/_nwKxh2fj2WcZ
https://dl.doubtnut.com/l/_Bw6F8BGrfB79

18. Express = as a rational number with

denominator (i)20 (ii) -30

o Watch Video Solution

—48 ) :
as a rational number with

19. Express

denominator 5.

o Watch Video Solution



https://dl.doubtnut.com/l/_hb8Ofx593x43
https://dl.doubtnut.com/l/_LaBPOsINRmrj

20. Express as a rational number with

—63

denominator 3.

o Watch Video Solution

5
21.Fill in the blanks. (i) — = =— = ——— (ii
ill in the blanks. (i) — 3% — (i)
[ 35 B —63
13 .

o Watch Video Solution



https://dl.doubtnut.com/l/_mBv1iUIIgXnu
https://dl.doubtnut.com/l/_3Z6z9KWFr96z

22.1n each of the following, find an equivalent

form of the rational numbers having a

. . O 7 .
common  denominator (|)E and§ (ii)
2 5 7
5, E andﬁ

° Watch Video Solution

23. Express each of the following as a rational

—15
number with positive denominator: (i)—28

(ii) °
Dy

° Watch Video Solution



https://dl.doubtnut.com/l/_y9eiCDFRgvVL
https://dl.doubtnut.com/l/_WIOfN5SWkA34

24. Express each of the following as a rational

— 28
number with positive denominator: (i)——

].].
(”) 19
) ——

° Watch Video Solution

25. Express 5 as a rational number with

numerator: (i)6 (ii) -15

o Watch Video Solution



https://dl.doubtnut.com/l/_WIOfN5SWkA34
https://dl.doubtnut.com/l/_kwpIyxcOKhBM
https://dl.doubtnut.com/l/_VPwTHlrf0gy0
https://dl.doubtnut.com/l/_aw1wvo0wNoYv

26. Express 5 as a rational number with

numerator: (i)21 (ii) -27

° Watch Video Solution

27. Express = as a rational number with

denominator: (i)— 14 (ii) 70

o Watch Video Solution

28. Express - as a rational number with

denominator: — 28 (ii) — &4


https://dl.doubtnut.com/l/_aw1wvo0wNoYv
https://dl.doubtnut.com/l/_ljdbYXLGiyl7
https://dl.doubtnut.com/l/_yDEgVMZq3fzw

° Watch Video Solution

29. Express 1 as a rational number with

denominator: 20 (ii) 36

o Watch Video Solution

30. Express 7 2 @ rational number with

denominator: 44 (ii) — &80

° Watch Video Solution



https://dl.doubtnut.com/l/_yDEgVMZq3fzw
https://dl.doubtnut.com/l/_lBC5i4lr4CHb
https://dl.doubtnut.com/l/_hOAMWkGRRXMS
https://dl.doubtnut.com/l/_EckULUZt918D

31. Express 5 as a rational number with

numerator — 56 (ii) 154

o Watch Video Solution

32. Express 5 as a rational number with

numerator — 750 (ii) 500

° Watch Video Solution



https://dl.doubtnut.com/l/_EckULUZt918D
https://dl.doubtnut.com/l/_iMwJsZ6DCwa4

—192

as a rational number with
108

33. Express

numerator: 64 (ii) — 16

o Watch Video Solution

—192
108

numerator: (i)32 (ii) —48

as a rational number with

34. Express

o Watch Video Solution



https://dl.doubtnut.com/l/_2cAvyWAtRfDp
https://dl.doubtnut.com/l/_YldBy2H0rrNg

168

as a rational number with
— 294

35. Express

denominator: 14 (ii) — 7

o Watch Video Solution

168
—294

denominator: —49 (ii) 1470

as a rational number with

36. Express

o Watch Video Solution



https://dl.doubtnut.com/l/_05tTy19PbmUt
https://dl.doubtnut.com/l/_iNO3gjdcVRj0

37. Write 74—;4 in a form so that the

numerator is equal to: —2 (ii) 7

o Watch Video Solution

4
38. Write TR in a form so that the

numerator is equal to: 42 (ii) — 70

o Watch Video Solution



https://dl.doubtnut.com/l/_N3C2kdepxxWR
https://dl.doubtnut.com/l/_eSZszlW84sFE

39. Select those rational numbers which can

be written as a rational numbers with

i e 123 45 6 -7
merator 6: —, —, —, —, —
Umerator s 5531 526’ 7 ' 8

o Watch Video Solution

40. Select those rational numbers which can
be written as a rational number with

denominator 4.

7 64 36 —16 5 140
8’ 16° —12° 17 ' —4’ 28

° Watch Video Solution



https://dl.doubtnut.com/l/_QRNhaeuJO2B2
https://dl.doubtnut.com/l/_5o5J8TKcjbbK

41. In each of the following, find an equivalent

form of the rational number having a common

: 5 .. 2 7 11
denominator: Zandﬁ (i) g,gandﬁ

o Watch Video Solution

42. Find whether the following rational

1
numbers are in the lowest form or not. 7—; (i)
24
320

l o Watch Video Solution


https://dl.doubtnut.com/l/_5o5J8TKcjbbK
https://dl.doubtnut.com/l/_OrAvVbTLnwKM
https://dl.doubtnut.com/l/_Kgi1PTaH3ofx

43. Express each of the following rational

bers to the lowest f 12 (i) — 00
numpers to e lowest Torm. ].6 1] 72

o Watch Video Solution

44. Express each of the following rational

bers to the lowest f -2 (ii) o
numpers to e lowest Torm. —36 1] —364

° Watch Video Solution



https://dl.doubtnut.com/l/_Kgi1PTaH3ofx
https://dl.doubtnut.com/l/_Rjw64flr71Qu
https://dl.doubtnut.com/l/_FxPWGdwJB9bQ

90 —6
165 : —95d

45. Fill in the blanks:

o Watch Video Solution

46. Determine whether the following rational

65
numbers are in the lowest form or not: 7 (i1)
—15

32

o Watch Video Solution



https://dl.doubtnut.com/l/_SgpK9vJ3eVxf
https://dl.doubtnut.com/l/_xGVJti6Za1iM

47. Determine whether the following rational

. 24
numbers are in the lowest form or not: 198
(i) — 56
I —33

o Watch Video Solution

48. Express each of the following rational

4 . —36
numbers to the lowest form: — (ii) ——
22 180

° Watch Video Solution



https://dl.doubtnut.com/l/_IK6vA9bOdtub
https://dl.doubtnut.com/l/_LOmLBRyr3peo

49. Express each of the following rational

bers to the lowest form: 132 (i) — 52
numbers to e ijowest Torm: —428 1] —56
o Watch Video Solution
50. Fill in the blanks: 0 _ . _ (i)
o Il N e adnkKs: 7 = 35 — 49 1]
-4 . 12
—9 18 .

o Watch Video Solution



https://dl.doubtnut.com/l/_oYHhHfoCih1s
https://dl.doubtnut.com/l/_eU97NpV2HGZw

6 ~12 24
13 =— (i

51. Fill in the blanks:
—6 B 3
11 — 55

o Watch Video Solution

52. Express each of the following rational

—8 —12
bers in the standard form: — (ii) ——
numbers in the standard form 58 (i) 30

o Watch Video Solution



https://dl.doubtnut.com/l/_xkml3omqBYGN
https://dl.doubtnut.com/l/_jCvePMz04X8p

53. Express each of the following rational

, 14 . —16
numbers in the standard form: —— (ii) ——
—49 — 56

° Watch Video Solution

54. Express each one of the following rational

numbers in the standard form: 147 (ii)
— 228

299

—161

° Watch Video Solution



https://dl.doubtnut.com/l/_wjXayDdgBwUJ
https://dl.doubtnut.com/l/_HAID9Qw6NWZM

55. Write each of the following rational

2 —8
in th s — (il) —
numbers in the standard form 0 (i) 36

° Watch Video Solution

56. Write each of the following rational

4 —15
bers in the standard f : ——— (il)) ——
numbers in the standard form 16 (i) —ar

o Watch Video Solution



https://dl.doubtnut.com/l/_nMLgNvBvjP3B
https://dl.doubtnut.com/l/_FO4bUTtaNVJ8

57. Write each of the following rational

, 299 3
numbers in the standard form: T (ii)
— 63

—210

o Watch Video Solution

58. Write each of the following rational

68
numbers in the standard form: —— (ii)

—119
—195
275

o Watch Video Solution



https://dl.doubtnut.com/l/_QKuaPFhcuxvZ
https://dl.doubtnut.com/l/_INgbXFPvEyQJ
https://dl.doubtnut.com/l/_A6Fg9IEPd6J4

8 —50

59. Are the rational numbers T and e
equal?
o Watch Video Solution
60. Are the rational b _8d28
. Are the rational numbers 53 an T

equal?

o Watch Video Solution



https://dl.doubtnut.com/l/_A6Fg9IEPd6J4
https://dl.doubtnut.com/l/_PqIvo3lJogNr

: —4 16
61. Are the rational numbers - andﬁ

equal?

o Watch Video Solution

15
62. Show that the rational numbers — 35 and
4

5 are not equal.

o Watch Video Solution



https://dl.doubtnut.com/l/_82t16LFM1H3W
https://dl.doubtnut.com/l/_IIbNa4FEOgno

63. Which of the following pairs of rational

—7
, I kA .
numbers are equal: 51 and_g (ii)
—8 13

1 andﬁ

o Watch Video Solution

—5
64.1f — — > find the value of x.
7 28

o Watch Video Solution

—3
65. Fill in the blanki — = —
8 48



https://dl.doubtnut.com/l/_jTyr9QO285L4
https://dl.doubtnut.com/l/_9OuYdwVw9jEV
https://dl.doubtnut.com/l/_LNHq6QTcc7i4

o Watch Video Solution

66. Which of the following rational numbers

" —9 g 8 (i) — 16 p 20
are equal! ﬁan _—12 | 20 an _—25

o Watch Video Solution

67. Which of the following rational numbers

-7 3 —8 13
? — (i —_
are equal 57 a,nd_9 (ii) 1 and 51

o Watch Video Solution



https://dl.doubtnut.com/l/_LNHq6QTcc7i4
https://dl.doubtnut.com/l/_2JCYWYw2J9gm
https://dl.doubtnut.com/l/_x2PeUOR6AkEC
https://dl.doubtnut.com/l/_YF38fTHEpDOa

68. If each of the following pairs represents a

pair of equivalent rational numbers, find the

| ¢ 2 d5(") -3 dx
values o a:-3an " i - an—

o Watch Video Solution

69. If each of the following pairs represents a

pair of equivalent rational numbers, find the

3 13 — 65
values of . — an dz (ii) and
5 —25 6 x

° Watch Video Solution



https://dl.doubtnut.com/l/_YF38fTHEpDOa
https://dl.doubtnut.com/l/_Jhrb36t40hsc
https://dl.doubtnut.com/l/_byfQfU4aCP7e

5 — 5
70. Represent 3 and 5 on the number line.

° Watch Video Solution

8 —8
71.Represent T and = on the number line.

° Watch Video Solution

72. Which of the two rational numbers

3 g —2 tor?
Ean T IS greater

o Watch Video Solution



https://dl.doubtnut.com/l/_byfQfU4aCP7e
https://dl.doubtnut.com/l/_fruvqGnahypD
https://dl.doubtnut.com/l/_H8SUwI9tqbma

73. Which of the two rational numbers

5} d3' tor?
7 and— is greater:

o Watch Video Solution

74. Which of the two rational numbers

—4 5
——and

i ?
9 15 Is greater:

o Watch Video Solution



https://dl.doubtnut.com/l/_6u51n6k20URt
https://dl.doubtnut.com/l/_R4NKuNnxJxdD

75. Arrange the  rational numbers

-7 5 2

0’ —g’ —3 ™ ascending order:

° Watch Video Solution

76. Arrange the following rational numbers in

4 -5 — 11
descending order: —, , ’ ’
9° 6  —12° —24

o Watch Video Solution



https://dl.doubtnut.com/l/_0m4zGcx8kQ7Q
https://dl.doubtnut.com/l/_oPYCNznZHM1D

77. Draw the number line an represent the

3
following rational numbers on it: 3 (i1) 1

° Watch Video Solution

78. Draw the number line an represent the

: : .3, =9
following rational numbers on it: — (ii) —

8 8

o Watch Video Solution



https://dl.doubtnut.com/l/_AtLHgT4dZp7P
https://dl.doubtnut.com/l/_ysejzxqS0YN6

79. Draw the number line an represent the

7

following rational numbers on it: —— (||) —

° Watch Video Solution

80. Draw the number line an represent the

22
following rational numbers on it: — (i1)
—31

3

° Watch Video Solution



https://dl.doubtnut.com/l/_9Mfaiudmt2Mx
https://dl.doubtnut.com/l/_zbN9clPvY3b5

81. Which of the two rational numbers in each

of the following pairs of rational numbers is

-3 5
greater? T, 0 (II) E, 0

o Watch Video Solution

82. Which of the two rational numbers in each

of the following pairs of rational numbers is

‘ ?(.)—4 3 (i) -7 5
greater? (i) o, 47 (i) 45~ —¢

o Watch Video Solution



https://dl.doubtnut.com/l/_W7fXVaDx4UJf
https://dl.doubtnut.com/l/_RqVr9KRfpOOe
https://dl.doubtnut.com/l/_b4zNSViJyqlP

83. Which of the two rational numbers in each

of the following pairs of rational numbers is
4 -3 -5 3

—o =7 W

greater?

o Watch Video Solution

84. Which of the two rational numbers in each

of the following pairs of rational numbers is

; ?5 -3 .. 5 —7
greater: 9’ _8(||) 3’ 12

° Watch Video Solution



https://dl.doubtnut.com/l/_b4zNSViJyqlP
https://dl.doubtnut.com/l/_5msnFDztTC0h
https://dl.doubtnut.com/l/_G3EGmXeTCLZY

85. Which of the two rational humbers in each

of the following pairs of rational numbers is

maller? —0 (i) — 10
Mallert T3 13 5’

o Watch Video Solution

86. Which of the two rational humbers in each

of the foIIowing pairs of rational numbers is

—4 —12
smaller? - (||)— -3

o Watch Video Solution



https://dl.doubtnut.com/l/_G3EGmXeTCLZY
https://dl.doubtnut.com/l/_LBnRrUTfd8he

87.Fill in the blanks by the correct symbol out

of >, =, or <: —— (i) — —

o Watch Video Solution

88. Fill in the blanks by the correct symbol out

o Watch Video Solution



https://dl.doubtnut.com/l/_rYe9xvav8NnD
https://dl.doubtnut.com/l/_L9SgeJUgNVuL

89. Arrange the following rational numbers in

3 —1 8 —
ascending order: (i)g, _35, —5 107 (ii)

—4 5 7 2
9 > —127 —18° -3

o Watch Video Solution

90. Arrange the following rational numbers in

descending order:

(Z,)7 64 36 5 140
8 16" —12° —4’ 28

-3 17 7 —11

10> —30° —15 20

(i)

o Watch Video Solution



https://dl.doubtnut.com/l/_nDtMuvkJys5L
https://dl.doubtnut.com/l/_gFbhlAZE56Gv

44

. . 4
o1. 7 in standard form is (a) — (b)
4 44
- (c)— I (d) None of these

° Watch Video Solution

o Watch Video Solution



https://dl.doubtnut.com/l/_gFbhlAZE56Gv
https://dl.doubtnut.com/l/_0jgHe5RyzVCd
https://dl.doubtnut.com/l/_r1u0sXmMGvpj

—2 — 10
93. A rational number equal to S is (a) 5%
10

T (C)T (d) None of these

(b)

o Watch Video Solution

x
94. If = 357 then x = (a)15 (b) 21 (¢)

—15(d) —21

o Watch Video Solution



https://dl.doubtnut.com/l/_Y7BlDucIEEpP
https://dl.doubtnut.com/l/_DAGZncU8PuB6

95. Which of the following is correct?

5 -8 5 _ -8 2 -8
9~ _8 9S8 —3° 77

4 -8

—3~ 7

o Watch Video Solution

—2
96. If the rational numbers —cmdi
T

represent a pair of equivalent rational

numbers, then x = (a)6 (b)—6 (c)3 (d) — 3

o Watch Video Solution



https://dl.doubtnut.com/l/_tyfwJvNdDWBC
https://dl.doubtnut.com/l/_nrClHmTgTW5Y
https://dl.doubtnut.com/l/_a0KZz9iZdfc0

97. What is the additive identity element in the
set of whole numbers? (a)O (b) 1 (c)—1 (d)

None of these

o Watch Video Solution

98. What is the multiplicative identity element
in the set of whole number? (a)0 (b) 1 (c)-1 (d)

None of these

o Watch Video Solution



https://dl.doubtnut.com/l/_a0KZz9iZdfc0
https://dl.doubtnut.com/l/_FbKGxHe34arY
https://dl.doubtnut.com/l/_0WVAzKWHdlwr

99. Which of the following is not zero? (a)

7=
3

OXO(b)g(c) (d)9+40

° Watch Video Solution

100. The whole number nearest to 457 and

divisible by 11 is (a)450 (b) 451 (c)460 (d) 462

o Watch Video Solution

3 :
101. If — 3 and are equivalent rational

numbers, then x = (a)3 (b) 6 ()9 (d) 12


https://dl.doubtnut.com/l/_0WVAzKWHdlwr
https://dl.doubtnut.com/l/_8FSzaT4Nasdb
https://dl.doubtnut.com/l/_C8cKPrtVJLjP

° Watch Video Solution

102. If is expressed as a rational number

with denominator 5, then the numerator is (a)

3(b) —3(c)6(d) —6

° Watch Video Solution

103. Which of the following pairs of rational

numbers are on the opposite sides of the zero


https://dl.doubtnut.com/l/_C8cKPrtVJLjP
https://dl.doubtnut.com/l/_jaasu9eLoEFv
https://dl.doubtnut.com/l/_F8lUfUN5xvLN

on the number line? (@) — and— (b)

7 12
3 —5 3 —
- andf (c) - andf (d) None of these

° Watch Video Solution

104. The rational number equal to ——= s

3
17 -6 . —8 3
(6) =g O 5 (=5 @ =

o Watch Video Solution

6
105. If —— = — then z = (a) — 8 (b) 4

(c) —4(d)8


https://dl.doubtnut.com/l/_F8lUfUN5xvLN
https://dl.doubtnut.com/l/_Hxz0bjbmPg5S
https://dl.doubtnut.com/l/_EPQvMq8ESZvp

° Watch Video Solution



https://dl.doubtnut.com/l/_EPQvMq8ESZvp

